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Marketing Communications (Second Year)

BRI S B dHER S 30%HAR T 70% s B RS ERE 2 Ais 0 2
FIERIER N R R i - IRy LB B NS00 ReRE » R EEAE — W/ NI 58 58
FTAE NN ARy - 8 _FEREE PR - A E A &R h—/
SRR RN EEY) - FIRGER HEE (E R 30 iR A DB HEUR 245
BT R RETEaRAT B ~ R > AT FERIFIRA Z kR T » Tutorial diFEEE
FES b i {ERE R AT R 2cER B Coursework (Y » Rl H &G W EAVISRE » %
ity Essay Questions 788 —RE ([0 - HAREKIRE =5 AT 2 A BHEET 151 (BT A R
TR0 2 B i B Blackboard F4 Past Paper)

International Business Economics (Second Year)
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Principles of Macroeconomics (Second Year)
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Economics of Business Organisations (Final Year)
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International Finance (Final Year)
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Value Based Strategy (Final Year)
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